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Cochran-Armitage

(71,705, 7m5) 1

0.4,0.5,0.6 10 1020 198 0O 108 1326 1731 2093 216 4634 8674 10000

20 1785 235 0 198 2218| 2367 1419 66 3930 7782| 10000

40 3825 303 0 475 4603 2024 787 20 2566 5397| 10000

80 6306 255 O 588 7149| 1421 327 0 1103 2851| 10000

100 7382 235 0O 636 8253 924 139 2 682 1747 10000

(0.35,0.50,0.65) 10 2053 349 0 172 2574 1973 1985 128 3340 7426, 10000

20 3795 364 0 352 4511| 2129 1125 34 2201 5489, 10000

40 6978 386 0O 574 7938 984 304 1 773 2062| 10000

80 9219 146 0O 341 9706/ 188 19 0 87 294, 10000

100 9615 102 0 219 9936 40 5 0 19 64| 10000

0.3,0.5,0.7 10 3464 516 0 255 4235 1929 1596 81 2159 5765| 10000

20 6133 529 0 416 7078 1393 591 6 932 2922| 10000

40 9015 245 0 375 9635 213 47 0O 105 365| 10000

80 9892 39 0 67 9998 1 0 0 1 2| 10000

K\ 100 9962 11 0 27 10000 0 0 0 0 0| 10000
10000
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Notation

dy, dy, dg (dy<d, <d;) 3
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1 1
08 08
06 06
04 0.4
02 0.2
0 0
10 20 40 80 100 10 20 40 80 100
' [ (7, 70,,70) = (0.4,0.5,0.6) } :
1 & 1
08 08
06— > A" 0.6
04 04
02 | 02
0 0
10 20 40 80 100 10 20 40 80 100

[ (7, 7,,73) =(0.3,0.5,0.7) }
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(71,705, 705) (d,,d,,d;)
(0.4,05,06) 91 97 122
(0.35,0.50,0.65) 42 41 52
(0.3,05,0.7) 24 23 30
(0.35,0.50, 0.60 ) 63 60 81
(0.35,0.50,0.55) 165 96 179
(06,0.7,0.8) 77 81 101
(0.4,05,06)  (20,40,80) 91 101 124
(0.35,0.50,0.65) (20,40,80) 42 44 55
(0.3,05,07)  (20,40,80) 24 25 31
(0.35,0.50,0.60) (20,40,80) 63 67 83
(0.35,0.50,055) (20,40,80) 165 113 182
(0.6,07,08)  (20,40,80) 77 83 103
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Notation
d;, d,, d; (d;<d,<d;) 3

X; d. (i=1,2,3) i(i=12, .n)

ii.d.

Xy ~ N (z;,0°), Xy 11 X5 11 Xy, o?

* N

iid. 0.025

Y. =B, +Bd +&, & ~ N(,c°), k=12,---3n
(Y1"”'Y3n)T = (X Xln’X21”"’xzn'xsl""’x3n)T’
(d,,---,d, )" =(d,,---,d,,d,,---,d,,dg,---,d,)

Z=7Z(X,X,,X,)~N(@0]1), X, == Zx”~|\|(ﬂ, j(u 1,2,3)
T
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f)@,)@,)@ X1y XKoo Xy
* PI‘()?1<)?2<)?3)
—00 < X; < X,,—00 < X, < X3,—00 < X; <0 fflizis
*
fil’iz,is IA —OO<X1,X2,X3 <(X)
1, (X,X,,X,) e A
1, (X,%,,%,) = 10 %21 X A={(X,%,, %) | Z (X, Xy, Xs) = Zg g5 |
12T ca 11 221 23 19 X1 X3) = Lo o5
0, otherwise
*
fil,iz,)?3 IA _OO<X1<¥2,—QD<Y2<¥3,—oo<¥3<oo

0 X3 X, L L o
J-—oo J‘—oo —o0 fil’iz’is (Xl’ X2’ X3) I A(Xl’ X2’ X3)dX1dX2dX3
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o t+ (> 5%)
1+ (> 5%)
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	視覚的に満足できる用量反応試験のための必要症例数
	想定場面

